
difference relation R on N:N

m:p ∼ n:q � m + q = n + p equ rel

m + p = m + p � m:p ∼ m:p � refl

m:p ∼ n:q � m + q = n + p � n + p = m + q � n:q ∼ m:p � symm

m:p ∼ n:q ∼ r:s �

{
m + q = n + p

n + s = r + q
�

m + s
Y [

+ q = m + q
Y [

+ s
Vor
= n + p

Y [
+ s = n + s

Y [
+ p

Vor
= r + q

Y [
+ p = r + p

Y [
+ q

add

cancel
� m + s = r + p � m:p ∼ r:s � trans

difference class m	 p

m:p ∼ n:q � m	 p ∼ n	 q

Z = N	 N = N:N
Y [

þ R =
m	 p

m � N � p
=

{
0:± 1:± 2:···

}
integers

m	 p � Z = N	 N 	←−−−−
surj

N:N � m:p

Z:Z +−→ Z

m	 p
Y [

+ n	 q
Y [

= m + n
Y [

	 p + q
Y [

easy well-def

{
m	 p = ′m	 ′p � m + ′p = ′m + p

n	 q = ′n	 ′q � n + ′q = ′n + q
�

m + n
Y [

+ ′p + ′q
Y [

= m + ′p
Y [

+ n + ′q
Y [ Vor+Vor

= ′m + p
Y [

+ ′n + q
Y [

= ′m + ′p
Y [

+ ′p + ′q
Y [

def
� m + n

Y [
: p + q
Y [

∼ ′m + ′n
Y [

: ′p + ′q
Y [

� m + n
Y [

	 p + q
Y [

= ′m + ′n
Y [

	 ′p + ′q
Y [



Z:Z ·−→ Z

m	 p
Y [

· n	 q
Y [

= m · n + p · q
Y [

	 m · q + p · n
Y [

hard well-def

{
m	 p = ′m	 ′p � m + ′p = ′m + p

n	 q = ′n	 ′q � n + ′q = ′n + q

� m · n + p · q
Y [

+ ′m · ′q + ′p · ′n
Y [

X Z

+ ′m + ′p
Y [

· n + q
Y [

=
1

m · n +
2

p · q +
3

′m · ′q +
4

′p · ′n +
5

′m · n +
6

′m · q +
7

′p · n +
8

′p · q

komm
=

1
m · n +

7

′p · n +
6

′m · q +
2

p · q +
5

′m · n +
3

′m · ′q +
4

′p · ′n +
8

′p · q

= m + ′p
Y [

n + ′m + p
Y [

q + ′m n + ′q
Y [

+ ′p ′n + q
Y [ Vor

= ′m + p
Y [

n + m + ′p
Y [

q + ′m ′n + q
Y [

+ ′p n + ′q
Y [

=
1

′m · n +
2

p · n +
3

m · q +
4

′p · q +
5

′m · ′n +
6

′m · q +
7

′p · n +
8

′p · ′q

komm
=

5

′m · ′n +
8

′p · ′q +
3

m · q +
2

p · n +
1

′m · n +
6

′m · q +
7

′p · n +
4

′p · q

= ′m · ′n + ′p · ′q
Y [

+ m · q + p · n
Y [

X Z

+ ′m + ′p
Y [

· n + q
Y [

add cancel
� m · n + p · q

Y [
+ ′m · ′q + ′p · ′n
Y [

= ′m · ′n + ′p · ′q
Y [

+ m · q + p · n
Y [

def
� m · n + p · q

Y [
: m · q + p · n
Y [

∼ ′m · ′n + ′p · ′q
Y [

: ′m · ′q + ′p · ′n
Y [

� m · n + p · q
Y [

	 m · q + p · n
Y [

= ′m · ′n + ′p · ′q
Y [

	 ′m · ′q + ′p · ′n
Y [

triv difference m	 0 � Z = N	 N N:N
	

oo N � m
:u

oo

inj
	0

dd

m	 0
Y [

+ n	 0
Y [

= m + n
Y [

	 0

m	 0
Y [

:n	 0
Y [

= m:n
Y [

	 0


